APES UNIT 5 EXAM

POSSIBLE FREE RESPONSE QUESTIONS

Be prepared to answer any or all of these questions on the FRQ section of the test.

1.
The figures below show the age structure diagrams for the populations in countries: X and Y.
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4. The figures above show the age structures of human populations in three countries, X, ¥ and Z.

(@) Which of the three countries has the largest rate of population growth? Which has the smallest rate? Explain.

(b) Compare the infant mortality rates that are likely in Countries X and Y. Explain your reasoning.

(¢) Describe the changes in both the birth rate and the death rate for a country making the transition from a
preindustrial society to an industrial society.

(d) Describe one incentive that the government of a country could offer its citizens that would favor a reduction
in the growth rate of its population. Explain how this incentive would work, and describe one possible

drawback.
14 4 [ sds





[image: image2.png]! Adobe Reader - [APES - FRQ 00.pdf]

Zible £t Hew Doument oob Window Heb — 8 x
2 Hsmeacowy = @ Psemcn | Insomst oy o - @ - [ AdobeReader 1528
I3

€ Bookmarks

Atiachments

2000 AP® ENVIRONMENTAL SCIENCE FREE-RESPONSE QUESTIONS

Male [l Female Male Female  Male E%\R‘malc

10 5 o 5 10 4 2 0 2 4 10 o 10
Number of People Number of People Number of People

in Country X in Country ¥ in Country Z

(in millions) (in millions) (in millions)

B Ages0-14 [0 Ages15-44 [ Ages 45-85+

4. The figures above show the age structures of human populations in three countries, X, ¥ and Z.

(@) Which of the three countries has the largest rate of population growth? Which has the smallest rate? Explain.

(b) Compare the infant mortality rates that are likely in Countries X and Y. Explain your reasoning.

(¢) Describe the changes in both the birth rate and the death rate for a country making the transition from a
preindustrial society to an industrial society.

(d) Describe one incentive that the government of a country could offer its citizens that would favor a reduction
in the growth rate of its population. Explain how this incentive would work, and describe one possible

drawback.
14 4 [ sds





a.
Which country would have the greatest life expectancy? Why?
b.
Which of these countries will have the largest rate of population growth?  Explain.
c.
Compare the infant mortality rates of country X and country Y.  Explain your reasoning.

d.
Describe one socioeconomic feature of country X.
2.
The "Demographic Transition" is a model that describes population change over time. It is based on an interpretation begun in 1929 by the American demographer Warren Thompson, of the observed changes, or transitions, in birth and death rates in industrialized societies over the past two hundred years or so.

a.
Draw a fully labeled diagram of the four phases of the demographic transition.  Include birth rates, death rates, and total population.
b.
For each of the phases of the demographic transition, fully explain what is occurring in each phase and describe what is causing it.
c.
Explain the term “demographic trap” and explain why it is a problem if a country gets stuck in one.

d.
Describe a strategy that a country might implement to slow its population growth while it is undergoing a demographic transition.  Explain how your proposed strategy would work.
3.
Today over 80% of Americans and 50% of the world’s population lives in urban areas.  Urban populations continue to grow by natural increase and through the migration of people from rural areas.  Urban areas continue to grow as populations sprawl out to the edges of cities and towns.  Combined, these urban and suburban areas use a large portion of our resources.  Urban planning must work toward a sustainable model of growth and development to protect our natural capital and promote ecosystem health.
a.
Explain one advantage and one disadvantages of urbanization.
b.
Identify two factors that have led to the increase in urban sprawl in the United States.
c.
Give an economic disadvantage that cities may face as urban sprawl increases.
d.
Discuss some negative impacts urban sprawl has on the environment.
e.
Give two practices that would be emphasized when creating environmentally sustainable cities.
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4.
On December 28, 1846, Iowa became the 29th state in the union.  The state spans 56,272 square miles.  In the 2000 Census, Iowa contained 2,926,324 people and according to the 2010 census, the state had grown to an estimated population of 3,046,355.  In 2010, there were 39,701 births and 27,745 deaths in the state of Iowa.

Based on this information, determine the following demographic indexes as of 2010:

a.
population density

b.
birth rate and crude birth rate

c.
death rate and crude death rate

d.
natural population growth rate (which excludes immigration and emigration)

e.
how long until Iowa’s population doubles

f.
the population at the next census in the year 2020
Full credit will only be awarded for completely showing your work, including all units, and circling or marking your final answer.

